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I3 G&IT 6 — 10 TF 9% 97 g1 371 &7 & | I3 97 &1 IR 40 sl @
37ferem 787 81T F05T |

J97 &7 11 — 16 T Icd% 97 &R 37H] &7 & | Jod% 97 &7 IR 100 J5)
g 37feres 787 §7 @50 |

97 G&IT 17 — 21 TF cd% J97 Giel 37! HT & | Id% 97 &7 IR 150 53!
g 37fere 787 17 =leT |

o7 g1 21 HAEE W STGIRG Fo7 & | $9% IR ITH FH-Jiawr
ferfera |

J97 G&IT 22 — 27 % o9F Yo T: bl H1 & | 9% J97 &1 3K 150 Isc]
g 37 787 §l7 =5 |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

59/2

All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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1. 1975 H AT MU ST SAMTARIA bl AN gRT AT9E-G i o T ITegrit
Toreft T Rr i ggEE i | 1

Identify the reason responsible for the people’s disliking of the National
Emergency imposed in 1975.

2. A g A % S TIF TS JAHehT 3N Wy g9 hi foemeameit § =18
Teh I T hHIMT | 1

Explain any one difference between the ideologies represented by the US
and the USSR during the Cold War period.

3. S STl o fohEl Tk o1Y ol IR HIfST | 1

Highlight any one advantage of the popular movements.

4.  ‘TOuehl EIAT 1 M HY UST ? 1

How did the ‘Chipko Movement’ get its name ?

5. o ad%d o 3raiys & ®9 4 ffafad # @ w-w wew gy’ R 2 1
(a) &9 o Fgdl g3 A |
(b)  Toma H et g SRS |
(c)  Toiehl TS o1 AYAT WX @i |
(d) T g AT Wferd o & H YA T 37 |

Which one of the following statements is ‘¢rue’ about the constraints on

American hegemony ?

(a)  The increasing power of Russia.

(b)  The widespread terrorism in the world.

(c) The institutional structure of the American State itself.

(d)  The rise of the India as a new economic power.
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wteer et fohegl € el o1 3g@ hifve St Afvass weeifa <t faear w1 faw
1 Th 3 | 1x2=2

Mention any two environmental issues that have become the concern of
global politics.

ok ST (TG UgaTeRt SUER HET) Wk foheal QI GROMHT 1 3AThoi
HIfTT | Ix2=2
Assess any two consequences of shock therapy.
WY ‘A’ H feu U qeat 1, Ty B H feu U qes | gredes freme hifse

T ‘A’ &Y ‘B’
(a) Teurse o fagra =1 T&gd & Ire 9a1 (1)  GFPAR 84
(b) T 1952 ° T 31w TsF h wim A (i) wH.U o
(c) WA K1 TH AT ST (iii) . T
(d) Tad 9T hT TEAID (iv) g oy §><4=2
Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful way :

Column ‘A’ Column ‘B’
(a)  Proponent of two-nation theory (i)  Sukumar Sen

(b)  Raised the demand for a separate (i1) M.A. Jinnah
State in 1952

(c) First Election Commissioner (iii) C. Rajagopalachari
of India
(d)  Founder of the Swatantra Party (iv) Potti Sreeramulu
3MTeh foem , WA gRI efraetar 1 Aifd st g9 SHal e =T 7 2 2

In your opinion, how far is India justified in choosing the policy of

non-alignment ?



10. oIS 31 ISR SR A7 ST foh ATt 3 AR @H-HH shi 3T7edl sl yHTfea

fram 2 | 1x2=2
Give any two examples to show that globalisation has affected our food
habits.

11. 57 @ g 3l & SMYR W 1945 T, TIad TS I TATIAT 6T 718 oft 2 Tk
Tee & Thegl g1 3T 91 g1 CSfal 1 Sg@ i | 2+2=4

State the two main expectations on the basis of which the United Nations

was formed in 1945. Mention any two organs and agencies each of the
UN.

12. YoM qe fgadt doadia AeHmel o Igwdl qon il Sl o ST | 39
YR | I8 sy Fepiferu for @F1 d 9 g Ii9Hn 9 9Ra & fae™ & s
T 3 e | 3+1=4

Compare the aims and achievements of the First and the Second Five
Year Plans to conclude which of the two was a turning point in India’s

development.

13. T3Sy H THR, WA H ARRAT o ¢ aNGH 4G 83 8 | 39 H9F o 94 |
I3 3 IUYF qoh G, | 2x2=4

‘Coalition Governments proved to be a boon for democracy in India.’

Support this statement with any two suitable arguments.

14. g =T MGG ohi fohegl IR | ] FATag T | Ixd=4
List any four demands of the Narmada Bachao Andolan.

15. JUCE T I THTGEITEA TS S Tt Tehrgl I STl i SATET I | Ixd=4

Explain any four factors that make the European Union an influential

organisation.
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16.

17.

59/2

IR <h! g fifd 6t smen Fiflve | 4
Explain the Nuclear Policy of India.

frafafea g &1 eamydes sregem Shife qen 35 H= fu T g & I
fafaw

(1)

(i1)

(iii)

HTITTHIA © B IS AT AURR o i TGN F=id g3 |
SAITIhTA <hl THIST & &T¢ 3TeTAdl 4 U o MR ITfeehi <hl
& AiRd iR M9 | TR STTTdehTA o ddd AT
RIHRT I FIOR q0F T &7 el T uTE off |
1975 H HNfSA STITARIA o GRH WRA o AFTERI 1 hiH-HT T IATHR
T AT Tl BT ?
JATITASIS oh UYHTd, JTGTCTdl 4 SHfod o ANTIeh STTUhR <l & T HAlsha
wftrept fuh i 3 Y 2
1 TUier AR o AR W s Sfdey TE BT =ET 2 379
IR % 98 | Teh IUJFd b ST | 1+42+2=5

Study the following passage carefully and answer the questions that

follow :

(1)

(ii)

(iii)

The Emergency made everyone more aware of the value
of civil liberties. The Courts too, have taken an active role after
the Emergency in protecting the civil liberties of the
individuals. This is a response to the inability of the judiciary to

protect civil liberties effectively during the Emergency.

Which Fundamental Right of the citizens was affected the
most during the Emergency period in 1975 ?

Why did the judiciary start taking an active role after the

Emergency in protecting the civil liberties of the individuals ?

Should there be no restriction on the ‘Right to Civil Liberties’ ?

Support your answer with one suitable argument.
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18. fr=Afafad aaor 1 eamydes 1eeH Hifore qen g A fu T et
W%’%’Q:
TR Tt T % IUETRd BiC W A HEMIGAAl b @Y
Y- 1 1 et Feft fga & foham | 39 <ot o1 i wfaggh
<9 o g gear 1 arrer e, sRrm ok snfde ueg fueft | 39 <=
i T TS <ul ¥ B oft | HEmIfRl o Agca H THEd shi SAaEdl
8 qff g o 31 Wi § S I 1wl U9 | R |

1) 39 g d Ifglad g1 memifeaan & am fafg |

(i)  TSHYA hl TIEAT  BIS < I U TSIET < T T&JT HT ATATEH
e 2

(i) HETIfFaN gRT B <M i 3T T3ag § IS L o g
R T HIWT | 1+42+2=5

Study the following passage carefully and answer the questions that
follow :

The smaller States in the alliances used the link to the
superpowers for their own purposes. They got the promise of
protection, weapons and economic aid against their local rivals,
mostly regional neighbours with whom they had rivalries. The
alliance systems led by the two superpowers, therefore,

threatened to divide the entire world into two camps.

1) Name the two superpowers that are referred to in this

passage.

(i1)  How did the ‘alliance systems’ assure to protect the smaller

States from their regional neighbours ?

(iii) Explain any two reasons for the big powers to have smaller

countries as their allies.
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19. = QU MU HET *1 eArgEs e Hif qun gk = fgu T gt % 3w
fafu .

() 39 A | GrEf-ad R ¢¥ i 81T |
(i) 39 < H I W AT YS! hT AR HIT |
(iii) WA s AT HEAT higd § TG < ! IMEH FTEAT § ThE TR

ICER 1+2+2=5
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Study the cartoon given below carefully and answer the questions that
follow :

M RS e i e - s e s — ol — e o
sl P25 RN 3

IAM
ALWAYS
GOOD AT

CALCULATION

—

(1) Identify the country related to this cartoon.

(ii))  Evaluate the system of governance being practised in this country.

(iii) How is the system of governance in India different from that of the
country related to the cartoon ?
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T :
Note :

20.

59/2

HETCTIRGT 577 FaeT GIBFTIEAT TReran & 1o7g, o7 G&ar 19 & T WE -

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)
(19.2)
(19.3)

(19.1)

(19.2)

(19.3)

TTATSST e ¥ el qeh UTIhEAT bl Tsh W AT ? 3gW@ <hHifT |
A 3R =9 & off= faare & fodl a1 el =t Imr AT |
A’ (gad) & fohegl o) "ew ¢ull % A fafEu | 1+2+2=5

Mention the period for which Bangladesh was a part of
Pakistan.

Highlight any two conflicts between India and China.

Name any four member countries of the ‘SAARC’.

FEAfiigd STaaer 1 SIFYde T hifWg qel ek = fgu T@ g
3l ‘r%ﬁ&nz :

YINER TSAT & Gied @ fafyear o fagra & &

fircft | 5@ &7 Sed 8 o6 WA 7 Aishas IT9ART & A1 SHRT HeT-An
AT $a1 W 4l BT b ... Wi § A9 HEC A 8 | 9’ %
ARRATES BH 1 Th Jaol A4 g | ARhad i g4 w1 379 o
fafSrrareti =1 gg=mAT R 3% TR & | @1y & A8 ot aee
et fop faftreranett o s foier oft 1 gepa B

(i)

(i1)

(iii)

A § Sl < Tishiaeh sttad § fafiman < fohedl ot &t 1 gga

HIfT |

fopmal @ 3qTEU g gy foh wRa H drehad, foe=mi i sgaar

N forf¥rararati st Tfehridn § 1 83T 2 |

QAhdd Wl GGG S H FATEl <hl fHeRT 1 STTehai hiT | 1+2+2=5
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21.

59/2

Study the following passage carefully and answer the questions that

follow :

The linguistic states underlined the acceptance of the
principle of diversity. When we say that India adopted
democracy, it does not simply mean that India ... adopted the
format of elections. The choice was larger than that. It was a
choice in favour of recognising and accepting the existence of
differences which could at times be oppositional. Democracy, in
other words, was associated with plurality of ideas and ways of
life.

(1) Identify any two forms of diversity in the cultural life of
people in India.

(ii) Give any two examples to show that democracy in India is
associated with plurality of ideas and acceptance of
differences.

(iii)  Assess the role of elections in strengthening democracy.

R & feu 7 gorHifas Weamfm g aim s w1 @), @), ©, O 9 &

TR e TR R | AR e IR hl HERA ¥ 3w UgEIHT 99T 39 Hal
I, T I TS TEHRT hl HH-EEAT AT TG W Tied, HEfARad

AT & ITHR AT ITR-Yfeqen 7 fofem -

T <hl TS AR
61 HH-GE

graf-ad T8 | T k1 I

(i)

(ii)

(iii)

(iv)

(v)

11
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() I8 TST S 1947 H fI9SH & 903 ¢ A9 o hRu AfEdca § T[T |
i) o8 <3t Tared fress e 3 9id & 919 39 faom o1 oty fomam o |
(i) % ST &l A o JH JH-IAE H HiUH el gAd I H 9w &

of |
(iv) YR T 2991 T |
(v) 98 TsY S8t e 1966 1 foran mam | 5x1=5

In the given political outline map of the India, five states
have been shown as @, , @, @and @ Identify them on the basis of
information given below and write their correct names in your answer
book with the respective serial number of the information used and the
alphabet concerned as per the following format :

Sr. no. of the Alphabet | Name of the
information used concerned State

(1)

(i1)

(iii)

(iv)

v)

(1) The State which came into existence due to bifurcation at the time
of partition in 1947.

(i1)) A Princely State whose ruler resisted its merger with India.

(iii)) The State where the Congress Party failed to win majority in the
First General Elections of India.

(iv)  The 29th State of India.
(v) The State which was created in 1966.

12



I E. 21 % fow For question no. 21

WA T {GT-AHRE (ITeeR)
Outline Map of India (Political)

68° 72° 76° 80° 84° 88° 92° 96° 100°

T 7 1 ] 1

36° 36°

32°

32°

28°

28°

24°

24°

20° 20°

16° 16°
12° 19°
8° g°

km 100 0 100

1 1 1 1
72° 76° 80° 84° 88° 92° 96°
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Note :

22.

59/2

el Jo7 #acT gieanad gaenfdEal & g, Jv7 &I 21 & €& |
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :
(21.1)  9Rd % Ufe=d H fhH TSH 1 S 1947 H WS o 697 §37 o1 ?
(21.2) Tora <t famea & fome 9 ard @9 8 oma faer st fomiy fepam
o1 ?
(21.3) 1952 H WA o ¥ WG H HiUg fohe TsA § agad I a1
L Fehl ?
(21.4) YRA % 299 T %1 99 fofgu |
(21.5) 1966 H fra U= &1 T feram T 2 5x1=5
(21.1) Which Western State of India was bifurcated at the time of
partition in 1947 ?
(21.2) Nizam of which Princely State opposed its merger with the
Union of India ?
(21.3) In which State could the Congress not win majority in the First
General Elections of India in 1952 ?
(21.4)  Name the 29th State of India.
(21.5) Which State was created in 1966 ?
IYH TS L& INUE o HISATHSD Ble IR RV T JUH HIT | 3+3=6
AT
TR hl @ o fehedl <fiF T Al 1 o i | 2x3=6

Describe the organisational structure and working the U.N. Security

Council.

OR

Describe any three new sources of threat to security.
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23. ugAfd & v gl i gei 1 IR hifse it a8 guid fo g gfagfgar ok

faarei & st sAfespie TsHIfa® ol § 318 Hgdfd 394 2 | 2x3=6
HAYAT

A ! TS TGUSAT TR ThHaT hl GG T 7q UH hIs i U ST 5l

HT9eh! T | 3Fed JwmEered &l | 2x3=6

Highlight any three issues of consensus to show that in the midst of
severe competitions and conflicts, a consensus has appeared among most
political parties.

OR

Suggest any three measures which, in your opinion, are very effective to
strengthen the national integrity and unity of India.

24. 1977 H SAUMAHIA BN AW o o1¢ ARA § 9 fohedl i g Teifes geared

19U HIfST | 2x3=6
FYan

uet fopegl i g geanent w1 guia difse e aftomeasy 1969 S

arél =1 =T fa9Tse g3 | 1§><4:6

Describe any three major political developments that took place in India

after the lifting of Emergency in 1977.
OR

Describe any three major events that led to the formal split in the
Congress Party in 1969.

25. G MR o €9 § AR F=ed 1 G0 hHITT | 6
HAUAT
UTfehEdT | lishds hl shrIguel! 1 favero Hifvw | 6
Examine the hegemony of the United States as a hard power.
OR

Analyse the working of democracy in Pakistan.
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26. Hifodd 99 = foued & fou Soerht fordl ©: SR il Tse FIfSu | 6x1=6

YT

3 gg I TRRWT I BS o WA AT o =0 i AR o IH aw
fehegl I RO sl TIC HINT | 3x2=6

Explain any six reasons responsible for the disintegration of the USSR.

OR

Explain any three reasons that led the Cold War to an arms race as well
as arms control.

27. vAfawor i W o fIT WY HIE TR ey sy g INd TR g qid 38T

ST =R | 1§><4:6
sreraT

UY his IR HeH AT S WRA TEhid I dftgsh TR R ARG F9H 6

foTT WHd TR g7 33TT ST =11 | 1§><4:6

Suggest any four steps that the Government of India should immediately

take to save the environment.

OR

Suggest any four steps that the Government of India should take to
popularise the Indian culture at the global level.
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